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They’re multiplying!

( addition )( multiplication )
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C addition )(multiplication) m

Put the digits 1-7 in each
row and column. Follow the
colour code above to
determine the operators
used in each zone.
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C addition )Cmultiplication) @

( subtraction )

Put the digits 1-7 in each
row and column. Follow the
colour code above to
determine the operators
used in each zone.

Subtraction means the
difference between the two
numbers so it will never be
negative.
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artoigk?

addition C multiplication )

( subtraction )( division )
( concatenation )

Place the digits 1-6 in each row and
column. Follow the colour code
above tfo determine the operators
used in each zone.

Concatenation is a big word for
something simple:

5 concatenated with 3 is 53.

Its just putting the digits together
to form a number.
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C addition )( multiplication )
C subtraction )
C concatenation )

Choose six digits from O through 9.
Place one in each row and column.
Follow the colour code below to
determine the operators used in
each zone.

Concatenation is a big word for
something simple:

5 concatenated with 3 is 53.

Its just putting the digits together
to form a number.
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C addition )(multiplication)

( subtraction )(concatenation)

Put the digits 0-3 in each row and each

column of the small puzzle.

color code above to determine the
operators used in each zone.

Put the digits 1-5 in each
row and each column of
the medium puzzles. 1In
the big puzzle put the
numbers 1-6.

1T 2 4 3}

For example, the row above looks
wrong because (1+2) x 4 x 3 = 36.
The line below looks better because
(144) x 2 x 3 = 30.
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@_\
C addition ) Cmultiplication)

( subtraction )( division )

Put the digits 1-7 in each
row and column. Follow the
colour code above to
determine the operators

used in each zone.
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C addition )Cmultiplication) @

( subtraction )( division )

Put the digits 1-7 in each
row and column. Follow the

colour code above to
determine the operators
used in each zone.

(ertouche
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(ertouche

( addition )C multiplication )
( subtraction ) ( division )
C concatenation )

Place the digits 1-6 in
each row and column.
Follow the colour code
above to determine the
operators used in each
zone.
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C addition ) C multiplication )
C subtraction ) ( division )
( concatenation )

Choose six digits from O through 9.
Place one in each row and column.
Follow the colour code below to
determine the operators used in
each zone.

Concatenation is a big word for
something simple:

5 concatenated with 3 is 53.

Its just putting the digits together
to form a number.
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@rtouche

addition

puzzles

(multiplication) {

( subtraction )(concatenation)

Put the digits 0-3 in each row and each
column of the small puzzle. Follow the
color code above to determine the

operators used in each zone.

Put the digits 1-5 in each
row and each column of
the medium puzzles. In
the big puzzle put the

numbers 1-6.
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For example, the

(1+4) x 2 x 3 = 30.

row above
wrong because (1+2) x 4 x 3 = 36.
The line below looks better because >

looks 5

rl 4]2

3 6
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